
IMSB9  9 NOZZLE BOOM



34

36

14

35

14

12

23

13

27

29

28

31

3

21

24

16

5

9

8

15

32 33
19

22

20

7

4 25

10

6

30

1

2

11

18

17

11

26

26

9

11

15

22

7

10

26

37



ITEM NO. Part # DESCRIPTION QTY.
1 AZFPM005  IMS4-6 Stainless boom bracket 1
2 AMICS001 Poly Shroud For Deicing Boom 1
3 AZFPM020 1" x 17-3/4" Poly Pipe For Deicing Boom 2
4 AZFPM022 1" x 14-13/16" Poly Pipe For Deicing Boom 2
5 AZFPM021 1" x 6-1/4" Poly Pipe For Deicing Boom 2
6 CBCR100 1" Poly Pipe Cross 1
7 CBEL10090  1" Poly Pipe Elbow 90 4
8 CBTEE100 1" Pipe Tee 3
9 CBRN100-075 1" x 3/4" Poly Reducer Nipple 2
10 CBRB100025  1" MPT x 1/4" FPT Reducer Bushing 7
11 CBCPLG075  3/4" Poly Pipe Coupling 4
12 CFPS04M04B 3/4" MNPT To 3/4" Hose Shank 2
13 CV3RB3414 3/4" x 1/4" Reducer Bushing 2
14 CB075C 3/4" Female Coupling X 3/4" Hose Shank 4
15 CB075F 3/4" Male Adaptor x 3/4" MPT 2
16 CB075CAP 1/2 and 3/4 Camlock cap 1
17 CBNIP025SH 1/4" Short Poly Nipple 2
18 CA404072N 1/4"NPT X QA Swivel 2
19 CNST002  3 Stream White Nozzle 4
20 CNST004  25598 REP. CAP CE White & Washer 4
21 CNST009  Teejet Tip/CAP XR 1-1/2 GPM 3
22 CNST017 TeeJet 1/4" NPT x BSPT Female Connection Adapter 7
23 CNBC014 FC Boomxtender 4.3 GPM Orange Plastic Quick Connect 2
24 CXSC0002 Cable Tie 8" 2
25 AZFPM015  1" Pipe Clamp 4
26 CFCW001 Clamp For 3/4" Hose 12
27 CHBS030723C 3/8"  x 1-1/2" SS Carriage Bolt 4
28 CHNSH0323 3/8" SS Hex Nut 4
29 CHWSF033 3/8" SS Flat Washer 4
30 CHWSL033 3/8" SS Lock Washer 4
31 CHBS012123  1/4" x 5" Long 18-8 Stainless Hex Head Bolt 4
32 CHNSN0123  1/4" Stainless Lock Nut 4
33 CHWSF013  1/4" SS Flat Washer 4
34 CLUESB020004 3/4" hose ( to boomless nozzle ) 1
35 CLUESB020004 3/4" hose ( to boomless nozzle ) 1
36 CLUESB020004 3/4" Hose (Center Boom Hose) 1
37 CNST016  3/4" Hose Barb Check Valve 3 lb 3


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3

